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40x3 + 4% — 52x — 24 48x3 — 1222 — 36x
5x+3 6x
24x% + 50x + 24 2x3 — 1222 + 12x
6x+ 8 6x
28x3 — 8x% + 4x 5453 — 3622 + 18x
4x 9x
16x° — 7452 +71x— 9 61> — 32 — 9x
& —9 X
x> + 2% — 4x 82 + 46x — 12
X &qx—2
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40x° + 4% — 52x — 24
5x+3
8 —4x—38

24x% + 50x + 24
6x+ 8
4x+ 3

28x° — 8¢ + 4x
4x
T — 2+ 1

16x° — 7452 +71x— 9
& —9
2% — Tx+ 1

O + 2% — 4x

x> + 2x— 4
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48> — 12x% — 36x
6x
8> —2x— 6

4053 — 1224 + 12x

6x
T — 2+ 2

54x° — 36x° + 18x

Ox
6x> — dx +2

60 — 3% — 9x

X
6x° — 3x—9

82 + 46x — 12
&qx—2
x+6
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